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(1) Evaluate each of the following integrals please. 
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(2)  Find the area under the graph of  2y  =  x  3x  +  4  and above the x-axis, between       

x = 0 and x = 2. 

 

 

 

(3)  Find the area under one arch of the graph of  y = ( )xcos3 π  and above the x-axis. 

 

 

 

(4)  Find the total area bound by the x-axis and the graph of 6x   5x     x  y 23
++= . 

 

 

 

(5)  Find the area bound by the graph of  2 x   +  y   =  2  and the coordinate axes. 
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(6)  Find ( )x' F   if 
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(7) Find the total area bound by each of the following curves please. 
 

 (a)  2  x  y =  and y  =  x  +  2 
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−=  

 
 

(c)  2y    x =   and   22y    3    x −=  

 

 

(d)  y  =  sin(x) ,  and  y  =  sin(2x)  if  π≤≤     x    0  
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(g) Calculator Problem   2    y x−
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−=   (Correct to 5 decimal places) 
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(6)  ( )x' F  =  –2 csc(2x) 
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